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Given two terms in an arithmetic sequence find the commeon difference and the term named in the
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Given a term in an arithmetic sequence and the common difference find the term named in the problem.
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" Find the tenth term in each séqﬁencg. . o
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Fmd the mlssmg term or terms in each geometrlc sequence o
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Findthe missing terin or terms in each arithmetic sequence.
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Evaluate each arlthmetlc- described.
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Evaluate each geometric described. '
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Determine the number of terms 7 in each geometric
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Determine if each geometric series converges or dlverges '
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'Evaluate each infinite geometric series described.
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